1/4" x 45" TYP DWG SUPPLIED ONLY AS EXPLANATION AS

TO WHAT | DID=0ONLY. NOT SHOWN,
SUPPORT RODS. bOLTING WILL BE PER
YOUR MNEEDS,

- 2 5/8 — - /—M;’E f——— 1 3/4"

®3/8

N
O
T

_.
o

L_ O oL Q } . / BDT-TCIJM 15

/
-—— ™

basically the bose attaches to roof-—top

1 3/4" ~ 2 5/8" angle attaches to solor ponle, bottom
., — 17— angle attoches to base & top angle. the
#5/16" 1/4-20 2 angle are rotated to desired pivot
CLEARANCE HOLE = 3/4" direction. remove bolt and pivot, oppsoite
side has an arm that goes between 2
ROTATION LINE angles,
FOR WHICH WAY T
AS NEEDED PANLE TILTS PANLE
FOR YOUR PANEL\{ 1 [ | /

USE 1/4-20 BOLTS\ [L‘:F'] AN Senns

5/16 PIVOT BOLTS \® ‘—’ @
USE FLAT WASHERS

BOTH SIDES \\[

I -
—
S
—
L

- ———BASE

AS REQUIRED
LAG BOLTS

60.00°
[ /

— TO TILT-REMOVE 1 (OF 2) 1/4 BOLT EACH PIVOT ON SIDE TO
L PIVOT. REMOVED BOTH 1/4 BOLTS ON SIDE TO BE RAISED ,
| ATTACHED SUPPORT ARM TO PIIVOT BASE, AND TQ TOP HALF
o ON PANLE.

» 2 MOUNTS ACT AS PIVOT, 2 ARE SEPARATED WITH ARM IN
EETWEEMN. ALL MOUNTS ROTATED DEPEMDING ON WHICH

. httplourelkhorn.itgo.com/solar.htm

L
L
L

s — — — . DIRECTION FANLE TILTS
BOLTS 8/16—MIN W FLAT WASHERS & NYLOK NUTS |4  |SS o, [revisio Y DA T
4 |SCREWS, LAG 1/4 W,/ WASHERS 16 |A3G 2 " | wo|pEscrRPTON
3 [BOLTS 1/4—20 W TLAT WASERS & NYLOK NUTS |8 |SS OUR ELKHORN 1 [ S|4—WAY SOLAR PIVOT MOUNTS
= o . ) P PR = = i -
S ’:f ARVEAERRY - STANDARDS: SAN LUIS OBISPO, CA | [El = |PRELIMINARY
:_:\ v"\" — USE /8 x 254 _ ASG T DR S T TR e T AR T e POy ORI o Ty o - RELIMINARY
er | ouene | PEC MCCrRIDTIO O N o remariy | (TOTALS) NUWBER D LAUSE O DONERLCT e TTENL . e
NATR JE LN N roTaL| SPELIFIGATIEN | fye oy PURCHASING A el ol e ol —
- 4 ; BOTH DELIERATE AND NASVERTENT DISCLOSURE TO ANy 10T 08 wokow, rerrcoucrion n|oeeLE: N.T.S, REV.
B”_L OF MﬁTERlALS 4 /$ WHOLE CR (N FART FOR ANY PLURPOSE MAY CALSE INJURY OR DEATH, AND |3 SRAWING 0
EAPRESSLY FORBIDCEN, MUMBER .




